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#include <stdio.h>
#define N 10

int main(void)

{
int 1,j,work;
int shiken[N]=1{72,26,97,76,85,93,61,49,100,54};
for (1=0:1<N:;i++){
\ printf("shiken[%d] = %d ¥n",i,shiken[i]);
return 0;

§

shiken|0] = 72
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#include <stdio.h>
#define N 10

int main(void)

int 1,j,work;
int shiken|[N]={72,26,97,76,85,93,61,49,100,54}:
for (1=0:1<(N-1):1++){
for (j=1+1;j<N;j++){
if (shiken [j <shiken[j]){

work = shiken|i];
shiken|i]=shiken|j];
shiken|j]=work;
}
}
for (i=0;i< N ;i++)1{
printf("shiken[%d] = %d ¥n",i,shiken[i]);

}

\ return 0;
shiken|0| = 100
shiken[1] = 97
shiken[2] = 93
shiken|3| = 85
shiken[4] = 76
shiken|5] = 72
shiken|6| = 61
shiken|7| = 54
shiken|8| = 49
shiken|9] = 26




i=0

shiken [0][1][2][3][4][5][6][7][8]1[9]

@Dj=1 175(26(97|76|85]93|61[49]100| 54|
L iI>zoxx
@j=2 |75|26197|76|85|93|61|49|100|54|
[ <3z
®j=3 |97|26|75|76|85|93|61|49|100|54|
1 _____________ >%®i§
@j=4 |97|26]75|76|85|93|61l49|100|54|
___________________ '>znxx
®j=5 |97|26|75|76|85|93|61|49|100|54|
fr I>z0Fxx
®j=6 |97|26|75|76|85|93|61|49|100|54|
kkkkkkkkkkkkkkkkkkkkkkkkkk '>zoxx
@j=7 |97|26|75|76|85|93|61[49|100|54|
S— >ZTDFF |
®j=8
AT |
®j=9 |100|26\75|76|85|93|61|49|97|54|
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